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General Instructions :

() This question paper contains 6
S 60 questions oy of which 50 qu.

to i;ze at,temﬁted.
S

( ”) q’ms question paper consists of three Sections — Section A, B and S(’(‘/I(m (

(zu) Section - A - Reading - contains 18 questions. A

[t 5@{ any
14 questions from Q. No. 1 to 18. ; ﬁ

Section — C - Liter

26 question from Q.&&' 1o 60.

First uest, in Section A, 10 questions in Section B and 26

ection C will be evaluated.

uuestwns carry equal marks.
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the guilty and give the inhocent
Y ]

ridiculous when both. the Pattios
S W) ey

would fight an their behalf |4 seemed | |

for a stronger professional fighter Stood
B a

s

judged annocent. I'his may sound unfair (o ug |

j , S DUl {)yere

wealthy person today who can hiye ASCO8Lly. and 1),
SV 01 wilhrant bary Ley

defend him.
In the early middle ages when England Was a land of

remote from each other, crime tended to be

small villa g
basic and di .

theft. sex and murder being the main offences BB L

2w

beating up

daf town and

opened the door to a world of mo e
o ] b
regular police force, spies and informers were offered rewards when they

m:u ans ; Saxons ; Romans
‘ Romans ; Saxons ; Normans

(d) Normans ; Romans ; Saxons

The article describes :

(a) The development of the system of justice:

A R e
(1) Civilized societies and justice 8

(c)  Justice v/s Civilisation
(d) Rule of Justice in Englan

B\
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3. Study the following statement

(A) Romans were

proud 21 judici
of they, Judicial sy,

not. much difference be

system of justice.

(B) There 1s

EWeen (1. N,

nd m

(a)  (A)1s right and (B) ig Wrong

(b) (B)1s right and (A) is Wrong
(¢) Both (A) and (B) are right
(d) Both (A) and (B) are wrong

4. Match the following :

(A) Romans 1. A priest to swear f ‘%e ace

£,

(B) Saxons i1. Highly PaI%laW;grs§mm a case
(C) Modern  11i. Educa

R 4 d Jifzggis“ﬁ | Ilawyers
T, e winner in a battle declared innocent
"E%C)i; D) i1 ;

(b) (A)dii; ' ©ii; D)iv;
(© %(B)iﬁ; ©iv; D)ii;
«u%: B®1i; (©)iii; D)iv;

-* Study the following statements -

(D) Normans iv.

@@ @Aav;

(A) In a trial by battle, money played a main role. 4

(B) God helped the innocent win the battle. ‘ g
@ (A)is right ang (B) is wrong :
(b)

(®) is right and (A\) is wrong

©  Both (A i
3 (A) and (B) are right e conclusion
) Both (4) and (B) are

i hk as not the conclusion
e % P.T.O.
% 3 [=] ph g

1
."i

Scanned with CamScanner



002/2/4

Study the follow),
(A)
(3)
(&)

D)

The following are correct :
(a)
(b)

()

(d)

";Ehl.,i

Saxon system ]

Saxan system had (.,
et
ro donl

B ipyis Sax 3
he ric 1 Saxons could 1 ch tmpy
T 1§ ‘ ons to argue (he 1T (
{ ase

Even an innoce rs
centperson would e held guilty if | 1
cnoughn Irl'llin >

did not swear for him,

(A) and (B)
(B) and (C)
(C) and (A)

(B) and (D)

population.

Crimes like cheating and fraud were rare.
(A) i is an assertion and (B) is the response u k

(B) is an assertion and (A) is the respons

frlier England comprised small villages each with a small ;

Both (A) and (B) are unrelatq;l a:sg%%%ga
Both (A) and (B) are sp@‘to?ome other assertions

, & g’age 6 %%%"

{3,
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Blenen . are {ig

Bved an (v,
Jtl\.un!.ww m the yudieigl tem

B <O W .
O would win the (yia] by fighting

Nampion

caron their behalf

nd (C)

)
‘-.

punished.

jury trial was
n ordinary

in the
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1 d

answer the

Questiong / complefe
e mog

the
{ APPropriate options out of the

1010 Mmamy als are thought o be

ng 10 a new study that hag

iearch has foung that the
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M Imon l",ln'upc- but are clagsified as

atened Species

as threatened by TUOCN were

an mole. The gtady revealed

the highest population of

had a high road-kill

99
)

bird .f;puci.cs“gfor
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ecl

Oads we should see whiely Decie
RO Protect those mogs 1 yig)

fed only 1th road

1 Jow population den 1

ed on the yond.

r'om roads.

he population density of

ed.

nd mammals.
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e study should |y

 Maim ). BUrvey

rope
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Would yoy, Like m

e to forway d
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WRITING (25— 30)

gate of yoy colony (1o, A Motor mechani
parked outside ¢ the pave ment and even
n. The Surroundingg have become filthy:
run decides to Write a letter of complaint,

ership. (any five)
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grrange the contents of the

'v"l:u m iy,

Burroundings
uested

d

) F,D, A C,.E,B

f.CoE, DA B
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SECTION _ ¢
LITERATUR):

-sections \.\'|.\‘H_‘\|||;lml| There oy VLobal of
section. f\“(‘lﬂ])( any 26 questione from {(he ub

fow and %1(1,(’]]1])1 the questiong / complete the

of asking W

anda every.day, how many

OW many this and L.]'latﬂsh(r had was

elf. Sh usﬁaily'wore somebody’s

dn’t live up on Boggins
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. :
B Maddie joined Pegegy in malking fun of W
Maddie's parcnts were poor
1
Ehe cause and (13) 1s the «

cause and (A) s the

e co ntradictory

the cruel nature of Maddie

 significant in the story as

urhood
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CUrio¢

llmllg,:lllfnl

(b) (A), (B).-and (C)

(C), (D) and (I9)
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the suitable word from (]

ed - approved - demande

1 below and answer the questions / complete the

round houses
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hould protect (he tigers as -

Lare majestic to look at.

act visitors to the zoo.

Clous.
‘

environment.
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Wact gi\'(ln 'JEID“' and answey the questions / 1{1']',"!“! {hier

enough fyom the IJH.\'." who followed his I‘u-»llulnl
dventures were by no means over. e had chosen a

ande about London without clothes. Tt was mid-

ply cold and he could not do without clothes.
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18 d Ofl.tbuys_lhe mvieible man felf

(b) partly relioved

(d) comfortable
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83, ‘In life. every man has twin oblication
The ‘twin obligations’ ar

(av) farst to his community and the ccond to his count,

WSt o his fanmuly and the second to his country

€ to his country and the second to his parents

s community and the second to his family.

his older brother catch his first herring and
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‘ g 8. For Tricky's present condition :

2" . A Both Mrs. Pumphrey and Tricky are to blame.

L
q w B. Only Tricky is to blame. . ;
L u .
b b (a) (A)is right and (B) 1s wrong. m" q .
. b, %
. (b) (B) is right and (A) 1s wrong. w (% ¥

i
' (©) Both (A) and (B) are right.
(d) Both (A) and (B) are wrong.

very simple person.

d be easily fooled.
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